Unit 2　Sam had lots of chocolate.

一、选出下列每组中不同类的选项。 

(　　) 1.
A. happen
B. hospital
C. town

(　　) 2.
A. face
B. nose
C. wa[image: image26.png]


ter
 

(　　) 3.
A. thirsty
B. fever
C. hungry 

(　　) 4.
A. headache
B. chocolate
C. stomach ache 

(　　) 5.
A. fall
B. carry
C. found 

二、根据图片及汉语[image: image2.png]b 22 2B (ZXXK.COM)




意思完成短语。 
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[来源:Zxxk.Com]
      1. have a ______　　    2. have a ________　　　[image: image3.png]b 22 2B (ZXXK.COM)




 3. have a ________
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          感冒　　　　　　　　头痛　　　　　　　　     胃痛

[image: image25.png]



　　   

          4. have a __________　         5. go to the ______

    [image: image4.png]b 22 2B (ZXXK.COM)




            发烧                         看医生

三、单项选择。

(　　[image: image5.png]b 22 2B (ZXXK.COM)




) 1. Sam fell ________ [image: image6.png]b 22 2B (ZXXK.COM)




his bike.

A. off
B. of[image: image7.png]b 22 2B (ZXXK.COM)





C. from

(　　) 2. Amy ______ a cold yesterday, and she ______ got a headache today.


A. had；has
B. has；has
C. has；had

(　　) 3. I am ________, so I want to drink some water.

A. hungry
B. bad
C. thirsty

(　　) 4. She had lots of bananas, so she has got a ________.

A. fever
B. headache
C. stomach ache

(　　) 5. Yesterday was cold，so she ________ a c[image: image8.png]b 22 2B (ZXXK.COM)




old.

A. has
B. has got
C. had got

四、给下列句子选择对应的图片。

(　　) 1. He carried the watermelon on the bike.

(　　) 2. The girl fell off her bike.

(　　) 3. They went for a bike ride last Sunday.

(　　) 4. A ball bumped his head.

 (　　) 5. Tom had a fever yesterday.

A. [image: image9.png]


　           B. [image: image10.png]S



　    C. [image: image11.png]



              D.[image: image12.png]


　　   E. [image: image13.png]



五、将下列句子重新排列，使其成为一段完整的短文。

A. And then they went home.[来源:学|科|网]
B. Jim fell off his bike yesterday.

C. They went [image: image14.png]b 22 2B (ZXXK.COM)




to the doctor.

D. Mum carried him to the car.

E. He bumped his head.

正确的顺序为：[image: image15.png]



六、连词成句。

1. had，headache，a，Lingling，yesterday (.)

_________________________________________________

2. had，watermelons，yesterday，two，Daming (.)

__________________________________________________

3. A[image: image16.png]b 22 2B (ZXXK.COM)




my，got，fever，today，has，a (.)

__________________________________________________

4. had，horrible，a，Tommy，cold (.)

____[image: image17.png]b 22 2B (ZXXK.COM)




_____________________________________________

5. chocolate，had，of，Sam，lots (.)[来源:学科网]
________________________________________________

7、 选择正确的选项完成对话。

A: What’s the matter __1__ you?[来源:学科网ZXXK]
B: I’ve got a __2__. I feel __3__. 

A: What did you eat this morning?

B: I __4__ some brea[image: image18.png]b 22 2B (ZXXK.COM)




d, some biscuits, an egg and a glass of orange juice.

A: Oh, I think you ate too much. Take these pills(药片), please.__5__ more water and you will feel [image: image19.png]b 22 2B (ZXXK.COM)




better soon.

B: OK. Thank you __6__ much.

A: You’re welcome.

(　　) 1. A. with
B. to
C. are[来源:Zxxk.Com]
(　　) 2. A. stomachache    
B. fever
C. headache

(　　) 3. A. better
B. fine
C. bad

(　　) 4. A. drank
B. ate
C. bought

(　　) 5. A. bought
B. eat
C. drink

(　　) 6. A. very
B. many
C. with

答案：

一、1. A　2. C　3. B　4. B　5. C

二、1. cold　2. headache　3. stomachache 4. fever　5. doctor

三、1. A　点拨：本题考查短语。fall off his bike意为“从他的自行车上摔下来”。

2. A　点拨：本题考查句子的时态。由前半句中的yesterday可知此处用have的过去式had，再由后半句中的today可知此处用一般现在时，she是第三人称单数形式，故[image: image20.png]b 22 2B (ZXXK.COM)




谓语动词用has。

3. C　点拨：本题考查单词的词义辨析。由后半句“因此我想喝一些水。”可知前半句应为“我口渴了，”故选C。

4. C　点拨：本题考查短语。由前半句“她吃了许多香蕉，”可知后半句为“因此她胃痛”。故选C。

5. C　点拨：本题考查时态。由前半句“昨天很冷”可知此处要用一般过去时，故用had got。

四、1. D　2. C　3. E　4. B　5. A

五、B E D C A 
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六、1. Lingling had a headache yesterday.

2. Daming had two watermelons yesterday.

3. Amy has got a fever today.

4. Tommy had a horrible cold.

5. Sam had lots of chocolate.

七、1. A　2. A　3. C　4. B　5. C　6. A

